f (x) f(x)=0 a
C )% Xor X0 %o,

xn+1:xn-—f(x”) n=0, 1, 2, 3,

f'(x,)
X X=X, y=f(x) X
3)
.f"_‘—-——___..
y=f(x)

y-yo=F () (x-x0)

a l :
— X2 x Xo
3
%o a X, a
f(x)=0
X a
f(x)=0 X,
X
Z f(2)
(¢ ) (
f(2)

f(9=2°-1



_, f@)_, &i-1_ 1@ 10
PR TG " T2, 28 7h
f(z2)=0 1 -1 z, Yy
) Z, -1 1 z,
( 4 ) -1
f(=2°-1
3
Zny =Zy- f(zn) = - il -21:}%2n+i2g
f'(z,) 3z 3 z,"
f(2)=0 1, w, W2(W=-1;J§i
1
S 4




« )
( ) (Cayley)

1879

6
z,
=, 1@
R(2) =z e
z,
R(2) Z

(% )
2,® R(z)® R(R(z)) ® RR(R(z,)) ®
6



( )R(2)

Z, Z,
ZO
Z R(2)
( )
2 6
1 w w?
6
3
( )
R(2)
R(2)
Q. (2)=2"+c
Q:(2) 0
0® c® c?+c® (c*+c)*+c® ((c?2+c)?+c)*+c®
C (1
) » Q(2) « )
Q'(2)=0
Q.(2)
C Q.(2)
C 6

2)






